MA/CSSE 474	Homework #13 81 points   Updated for Summer, 2015
Key:
	(No symbol) 	Not required to be turned in.  Just be sure that you can do it.
	(t -7) 	To be turned in and graded, worth 7 points.


1. [bookmark: _GoBack] (t-6-3) 17.11  First show that it is a subset of D by showing a construction that creates a TM from a   
                DFSM.  Then show that it is a proper subset. 
2. (t-27) 17.12 (9 points for each part)
Note on 17.12a:  
L = { [<x>, <f(x)>], xℕ}, where <x> means "the binary encoding of integer x" and <f(x)> means "the binary encoding of integer f(x)"
3. (t-3) 17.13
4. (t-9) 18.1a
5. (t-9) 18.1b
6. (t 6)  19.1 (3 points, 3 points)
7. (t-6)  19.2 (3 points, 3 points)


